Listening Part 1
You will hear some sentences. You will hear each sentence twice. Choose the best reply to each
sentence.

1. a) I'mafraid you may well be right.
b) No, she meant to doit.
¢) A mostunfortunate accident.

2: a) It's not very well-printed, is it?
b) Yes, you need to read between the lines.
c) Yes,|'dsayit was self-explanatory.

3. a) ltisrather old-fashioned, isn’tit?
b) |agreeit's well-decorated.
c) Yes, really state of the art.

4. a) Measure it yourself if you like.
b) Not atall, only if I know I'm right.
c¢) That's why I'm so easy-going.

5. a) No, you seemed very calm.
b) Yes, they were in the garden.
c¢) I'msureyou’ll be fine.

6. a) I'lltake that as a yes, then.
b) Thanks for apologizing.
c¢) lassume that means you won't.



Listening Part 2

You will hear some conversations. You will hear each conversation twice. Choose the correct
answers for each conversation.

Conversation 1

1. The conversation is taking place

a) outdoors.
b) in a public building.
c) ina private home.

2. Who thinks the celebration will be successful?

a) The woman.
b) The man.
c) Both speakers.

Conversation 2

3. The hotel guest is dissatisfied with the

a) price of the room.
b) size of the room.
c) Facilities in the room.

4, The receptionist appears to be
a) indifferent to the complaint.

b) accustomed to this complaint.
c) surprised by the guest’s attitude.

Conversation 3

5 The speakers are

a) neighbours.
b) old friends.
c) strangers.

6. The man can’t accept the woman'’s invitation because of
a) a medical appointment.

b) travel plans.
c) Family matters.




Listening Part 3
You will hear someone talking. You will hear the person twice. Complete the information. Write
short answers of one to five words.

The Year OF...

1. Reason for no handouts:




Listening Part 4
You will hear a conversation. You will hear the conversation twice. Choose the correct answers.

T Who has worked on the same committee before?

a) Allthree of them.
b) The woman and each man.
c¢) The two men only.

2, How did Peter react when he received the invitation to join the committee?

a) He thought it was a joke.
b) He wrote to decline.
c¢) He felt honoured.

3. Alistair objects to Peter’s idea about using numbers as street names

a) because it has been done before.
b because it could be confusing.
c¢) simply because it is Peter's idea.

4. Linda thinks that Peter
a) did not really understand what Alistair said.
b) isright to laugh at Alistair's comments about house prices.
c¢) doesn’t understand how seriously people take street names.
D Alistair's offer to write letters to members of the public is
a) put off until later.
b) discussed at length.
c¢) declined.
6. Linda’s comment about the restaurant is intended to
a) speed up the meeting.

b) interrupt the discussion.
¢) indicate when the meeting will end.



The suggestion to use trees as street names

a) descends into a silly argument.
b) develops into a serious discussion.
c) involves all three speakers in lively debate.



